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HOMEWORK 4. M A.TH 233
24

DUE TUESDAY, SEPTEMBE 2002

Problems 3 is worth 2 points. The other 3 problems are worth 1 point each for a total of
5 points.
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Use the polar command in Matlab to first graph the curve with polar equation r =

1+cos (58) over the interva cul [0,27] and next | graph the curve with polar equation
r =sin (f/4) over the interval ;_G; 8x]. Do these graphs separately, i.e. don’t put both
on the same plot.

Let f(z,y) = zy/(z* + y?) for (z,v) # (0,0).

(a) Use Matlab to plot the graph of f with a meshgrid for which both z and y go
from -.95 to .95 in increments of .1. Note that this means the meshgrid doesn’t
contain (0, 0).

) Show by hand that f(z,y) is constant on the straight line through the orig
with slope m. In terms of m, what is this constant value? Which value for m
gives the maximum value of f7
(c) Use (b) to explain the bad behaviour of your graph for (z,y) near (0,0).

Do #50 on page A67, Appendix H.1. First find the two points at which the circles

intersect, then use the formula for slopes of polar curves to show that their tangent

lines are perpendicular at each point of intersection.

Do#24 on page AT72, Appendix H.2.
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ENW, Graph of f(x,y)=xy/(x 3+y3)




ENW, Graph of the polar equation r=sin(6/4) over [0,8n]
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ENW, Graph of the polar equation r=1+r cos56
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